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������� �. 
���
������������
����������������
����������������������������
�������
����
��
1.  �����������
�!���"�
����#��������� COD 
���#'(�
��)*"���+�����,���)-�,
��.�'�-�
/
���)-�,
�����	
��
���� 1

1.   ������������������ 1000 mL  ��!� COD 2415 mg/L
 �������)�������������������  � COD 2.415 g

2.   FeSO4.7H2O 1.0 g
 FeSO4.7H2O �������� 278.01 g 0���
1�234 Fe 56 g

 ������� FeSO4.7H2O 1.0 g 0���
1�234 Fe     
278.18g

.0g)(55.85g)(1 = 0.20 g

3.   H2O2 7.0 mL   )����	�	�4 1000  �9��4 :�� 30  %H2O2 (d = 1.112)
 ������� H2O2 7.0 mL ����0=� (7.0 mL)(0.30) )(1.112 g/mL)    =  2.34 g
4.   CaO 0.90 g 9!
���	�	�4 1000 ml
 ������� )����	�	�4 1000 ml  :� � CaO  0.90 g

�A���B�����
�9���!3�C�4��������D
�
 COD: Fe: H2O2:CaO   =    2.41 : 0.20  : 2.34  : 0.90

= 1 : 0.08  : 0.97  : 0.37
Fe: H2O2:CaO   =      1    : 11.7  : 0.45

�����	
��
���� 7
1.  ��������:��C�����F	�9�G
�����:
�� 1000 mL  ��!� COD 798 mg/L
 �������)���������:��C�����F	�9�G
�����:
�� � COD 0.798 g
2.  FeSO4.7H2O 1.0  g
 FeSO4.7H2O �������� 278.01 g 0���
1�234 Fe 56 g

 ������� FeSO4.7H2O 1.0 g 0���
1�234 Fe     
278.18g

.0g)(55.85g)(1 = 0.20 g

3.  H2O2 7.0  mL   )����	�	�4 1000  �9��4 :�� 30  %H2O2 (d = 1.112)
 ������� H2O2 7.0 mL ����0=� (7.0 mL)(0.30) )(1.112 g/mL)    =  2.34 g
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4.  CaO 0.90 g 9!
���	�	�4 1000 ml
 ������� )����	�	�4 1000 ml :� � CaO 0.90 g

�A���B�����
�9���!3�C�4��������D
�
 COD: Fe: H2O2:CaO   = 0.798 : 0.20  : 2.34  : 0.90

= 1 : 0.24  : 2.88  : 1.13
Fe: H2O2:CaO   =     1    : 11.7  : 0.45

�����	
��
���� 13
1.   ��������1!
�
��2�4:��C�����F	�9�	!
������H 1000 mL  ��!� COD 588 mg/L

 �������)���������1!
�
��2�4:��C�����F	�9�	!
������H � COD 0.59 g
2.   FeSO4.7H2O 1.0 g
 FeSO4.7H2O �������� 278.01 g 0���
1�234 Fe 56 g

 ������� FeSO4.7H2O 1.0 g 0���
1�234 Fe     
278.18g

.0g)(55.85g)(1 = 0.20 g

3.   H2O2 7.0 mL   )����	�	�4 1000 �9��4 :�� 30% H2O2 (d = 1.112)
 ������� H2O2 7.0 mL  ����0=� (7.0 mL)(0.30)(1.112 g/mL)  =  2.34 g
4.   CaO 0.90 g 9!
���	�	�4 1000 ml
 ������� )����	�	�4 1000 ml :� � CaO 0.90 g

�A���B�����
�9���!3�C�4��������D
�
 COD: Fe: H2O2:CaO   = 0.587 : 0.20  : 2.34  : 0.90

= 1 : 0.34  : 3.99  : 1.53
Fe: H2O2:CaO   =     1    : 11.7  : 0.45

2. ������������/��!��
��� 1 2�
3���
9�3
4!�� �������3I0�� �IC1�
�)�9��
�D
������	
���� 1 JK�� ���������9��
� 0.8336 g/L

− :��3�L�����9��4 9��
�C�4	�	�49��
������ ��234��� HCl   
M	230��10�� �9�N�2 25 ml

− F	:�����3���������234���O�
� ICO Q OES =   116 mg/L
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�������)�9��
� 0.8336 g/L     =   
mL1000

mL) mg/L)(25 (116  = 3 mg

− �������0�� �IC1�
�)�9��
� = 3 mg
�������3I0�� �IJ�	�G9)�9��
�D
������	
���� 1 JK�� ���������9��
� 0.8336 g/L

− :��3�L�����9��4 9��
�C�4	�	�49��
������ ��234��� HCl   
M	230��10�� �9�N�2 25 ml

− F	:�����3���������234���O�
� UV  =   2498 mg/L

�������)�9��
� 0.8336 g/L    =   
mL1000

mL) mg/L)(25 (2498  = 62  mg

− �������0�� �IJ�	�G9)�9��
� = 62  mg
�������3I0�� �IM�	�J�4 )�9��
�D
������	
���� 1 JK�� ���������9��
� 0.8336 g/L

− :��3�L�����9��4 9��
�C�4	�	�49��
������ ��234��� HCl   
M	230��10�� �9�N�2 25 ml

− F	:�����3���������2343�L� EDTA  =   516 mg/L

�������)�9��
� 0.8336 g/L    =  
mL1000

mL) mg/L)(25 (516

− �������0�� �IM�	�J�4 )�9��
� =  13  mg
�������3I0�� �I��	W�)�9��
�D
������	
���� 1 JK�� ���������9��
� 0.8336 g/L

− :��3�L�����9��4 9��
�C�4	�	�49��
������ ��234��� HCl   
M	230��10�� �9�N�2 25 ml

− F	:�����3���������234���O�
� UV =   6320 mg/L

�������)�9��
� 0.8336 g/L    =   
mL1000

mL) mg/L)(25 (6320  = 158 mg

− �������0�� �I��	W�)�9��
� = 158  mg

3.  ������������/�����
'32�!��'3'�
.'32�
3���
3.1  Mass Balance

0�� �I���)����	�	�4��� = 0�� �I���)����	�	�4 + 0�� �I���)�9��
�
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3.2  �����=����/�����
'32�!��'3'�
.'32�
3���

�2
4	� D
����)����	�	�4 =  
�9��
�0�� �I���)����	�	�40�� �I���)

����	�	�40�� �I���)
+

× 100

�2
4	� D
����)�9��
� =
�9��
�0�� �I���)����	�	�40�� �I���)

�9��
�0�� �I���)
+

× 100

9�3
4!���������3ID
������	
��
���� 1
1. 0�� �IC1�
�
)����	�	�4 1 	�9�

F	���3���������234���O�
� ICP Q OES
C1�
�)����	�	�4��� 1391 mg/L

�������)����	�	�4��� 1 	�9� �C1�
� 1391 mg
C1�
�)����	�	�4 1325 mg/L

�������)����	�	�4 � C1�
� 1325 mg
:���������3I )�D2
 2 0�� �IC1�
�)�9��
� 3 mg
!/�>'/�'

0�� �IJ�	�G9)����	�	�4��� = 0�� �IJ�	�G9)����	�	�4 + 0�� �IJ�	�G9)�9��
�
 1391 mg                   =                 1325 mg                  +             3 mg
 1391 mg                   ~                 1328 mg

�����=����/�����
'32�!��'3'�
.'32�
3���
�2
4	�D
�C1�
�)����	�	�4

 =
�)�9��
�0�� �IC1�
4�)����	�	�0�� �IC1�


4�)����	�	�0�� �IC1�

+

× 100

�2
4	�D
�C1�
�)����	�	�4 =   
31325

1325
+

× 100 = 99.8

�2
4	�D
�C1�
�)�9��
�

 =
�)�9��
�0�� �IC1�
4�)����	�	�0�� �IC1�


�)�9��
�0�� �IC1�

+

× 100
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�2
4	�D
�C1�
�)�9��
� =
31325

3
+

× 100   = 0.2

2. 0�� �IJ�	�G9
)����	�	�4 1 	�9�

F	���3���������234���O�
� UV
J�	�G9)����	�	�4��� =  3140 mg/L

�������)����	�	�4��� 1 	�9� �J�	�G9 =  3140 mg
J�	�G9)����	�	�4 =  3030 mg/L

�������)����	�	�4 � J�	�G9 = 3030 mg
:���������3I )�D2
 2 0�� �IJ�	�G9)�9��
� =  62 mg
!/�>'/�'

0�� �IJ�	�G9)����	�	�4��� = 0�� �IJ�	�G9)����	�	�4 + 0�� �IJ�	�G9)�9��
�
 3140 mg                   =                 3030 mg                  +             62 mg
 3140 mg                   ~                 3092 mg

�����=����/�����
'32�!��'3'�
.'32�
3���
�2
4	�D
�J�	�G9)����	�	�4

=
G9)�9��
�0�� �IJ�	��4G9)����	�	0�� �IJ�	�

�4G9)����	�	0�� �IJ�	�
+

× 100

�2
4	�D
�J�	�G9)����	�	�4 =   
623030

3030
+

× 100  = 98.0

�2
4	�D
�J�	�G9)�9��
�

 =   
G9)�9��
�0�� �IJ�	��4G9)����	�	0�� �IJ�	�

G9)�9��
�0�� �IJ�	�
+

× 100

�2
4	�D
�J�	�G9)����	�	�4 =   
623030

62
+

× 100  = 2.0

3. 0�� �IM�	�J�4 
)����	�	�4 1 	�9�
���	�	�4�!
�1��1��

F	���3�����������N��9���234 EDTA  =  88 mg/L
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�������)����	�	�4�!
�1��1�� � M�	�J�4 = 88 mg
M�	�J�4 ����9� 	�N0 0.9 g  �M�	�J�4 = 643 mg
0�� �IM�	�J�4 )����	�	�4 = 675 mg/L

�������)����	�	�4 � M�	�J�4 = 675 mg
:���������3I )�D2
 2 0�� �IM�	�J�4 )�9��
� =  13 mg
!/�>'/�'

0�� �I Ca ����9� + 0�� �I Ca )����	�	�4�!
�1��1��
= 0�� �I Ca )����	�	�4 + 0�� �I Ca )�99��
�

 = 675 mg                  +             13 mg
 643 mg + 88 mg                   ~                 688 mg

�����=����/�����
'32�!��'3'�
.'32�
3���

�2
4	�D
�M�	�J�4 )����	�	�4 =  
)�9��
�Ca0�� �I�4Ca)a)����	0�� �I

)����	�	�4 Ca0�� �I
+

× 100

�2
4	�D
�M�	�J�4 )����	�	�4 =   
13675

675
+

× 100  = 98.1

�2
4	�D
�M�	�J�4 )�9��
� =
)�9��
�Ca0�� �I)����	�	�4Ca0�� �I

)�9��
� Ca0�� �I
+

× 100

�2
4	�D
�M�	�J�4 )����	�	�4 =   
13675

13
+

× 100  = 1.9

4. 0�� �I��	W�
)����	�	�4 1 	�9�

F	���3���������234���O�
� UV
��	W�)����	�	�4��� 166 mg/L

�������)����	�	�4��� 1 	�9� ���	W� 166 mg
��	W�)����	�	�4 6 mg/L

�������)����	�	�4 � ��	W� 6 mg
:���������3I )�D2
 2 0�� �I��	W�)�9��
� 158 mg
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!/�>'/�'
0�� �I��	W�)����	�	�4��� = 0�� �I��	W�)����	�	�4 + 0�� �I��	W�)�9��
�

 166 mg                   =                 6    mg                  +             158 mg
 166 mg                   ~                 164 mg

�����=����/�����
'32�!��'3'�
.'32�
3���

�2
4	�D
���	W�)����	�	�4 =   
�)�9��
�0�� �I��	W4�)����	�	�0�� �I��	W

4�)����	�	�0�� �I��	W
+

× 100

�2
4	�D
���	W�)����	�	�4 =   
6158

6
+

× 100  = 3.6

�2
4	�D
���	W�)�9��
� =
�)�9��
�0�� �I��	W4�)����	�	�0�� �I��	W

�)�9��
�0�� �I��	W
+

× 100

�2
4	�D
���	W�)����	�	�4 =   
6158

158
+

× 100  = 96.4


������� 61 M���0�� �I���:������ �
	 3	

���/�� (mg)
�������
����
�� �������
���
�� + CaO!��
!��'3'�
��� !��'3'�
 
3��� ��/

"���� 1391 1325 3 1328
-�'��
 3140 3030 62 3092
�#'(� 166 6 158 164
.�'�-�
/ 731* 675 13 688

* �0=�0�� �IM�	�J�4 )���������M	�M�	�J�4 ����9� 	�N0
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4.  ��������� % BAE (Boric Acid Equivalence)

 % BAE = 100 G B (mg/L) G
mg
g

1000
1

×
BMW
BOHMW 33 ×

gweight
makeV

,
)(

×
mL
L

1000
1

MW  H3BO3 = 61.8 g/mol
MW B =   10.8 g/mol

��O
����3I:��0�� �I H3BO3 C�4��� % BAE  =  
)/650(
)/(

3

3
33

mkgd
mkgBOH
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������� �. ����
��
/
���
���
3���.'3��P����������3#,�>���Q�����!�

1. ����
��
/
���
���
3���

− 
19�3
4!��)�2M�2���� 105 OC
− ���9��
������ � �������������
− 	�	�49�3
4!���234���N`C���	
��� 0.5 �
�� �	 0�� �I 5 ml
− )�2�3� �2
��	W��2
4�AO�
)�29��
�	�	�4:�� �
− ������	�	�4���N�2 �0��10�� �9��234�����	��� )�D3�3��0�� �9�D��� 25 mL
− ������	�	�����N�2N03���������!�9!�� a 9!
N0

2.  '��R�3!/��
���������!�
���!����S2����
��+������3#,
2.1  COD (Chemical oxygen demand)

���3�����������!� COD �0=����3�����������3� ��0��D
��������49!�� a C�4
�0=����3��0�� �I

�J��:������ ����)�2)����

�J�N�J����
�����4�D
��������4�AO�
)�2����
����1
�N�

�NJ�� M	������0=�F	0b�����4��
��2�4 ��O�
�ND�����c)����3��������J�C
���O
 
0b�����4�

�J�������92
�����DK��C�4
�d�4

�J�N�J���
�:�9� (Oxidizing agent) 
4!��M��j�4)92
�j�3�����0=�����D2 D2�M	� �

I�jk ��k�

#'�����������3#,-�"��� "�
��P����'��-,.���W� (Open reflux method)
j�4)92�j�3������G	��J�)����	�	�4���J�	Gk����D2 D2����

I�jk ��k� ���


�����4�)�����:�lk�

�J�N�J�C�4���	�	�4C09�	�J�4 N�C��� �������1�3� �D2 D2�M	� �
0�� �I ������A
������1:���3� �	��:����G	��J� 3��0�� �IC09���J�4 N�C��� ������	O
C�4���
N0N9��9�9��1 �G
���M
 C ���4 J�	�G9 ( Ferrous ammonium sulfate) M	�)�2�G
C�
��
(Ferroin) �0=�
�������9
�� ���)�2���10�� �ID
�C09���J�4 N�C��� ����)�2)����

�J�N�J����

�����4�N�2
���[���/[�.'3�>����,

1. �
����O�
��	���M11N�	�	�1�O� (Reflux apparatus) 0���
1�234D3��k0��34��� ��
���
�234M�23D��� 20/40 0�� �9� 500 ��O
 250 ml M	� condenser 300 Q mm Jacket liebig ���
 �D2
9!
D��� 20/40

2. �9�)�2�3� �2
� (Hot plate) ��� ����	��
4!���2
4 1.4 W/cm 2
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!����/�
1. Standard potassium dichromate solution 0.25 N : 	�	�4 12.259 ��� K2Cr2O7 (
1M�2���� 

103OC �0=��3	� 2 ���3C �) )������	���M	23�9� ����:���1 1 	�9�
2. Sliver sulfate, Ag2SO4 �0=�F	K���O
F�
3. Sulfuric Acid, H2SO4 conc.
4. Sulfuric acid reagent : �9� Ag2SO4 	�)� conc. H2SO4 )�
�9���!3� 8.8 ��� Ag2SO4 9!


conc. H2SO4 1 	�9� 9�������N32 1 Q 2 3�� �AO�
)�2 Ag2SO4 	�	�4
5. Ferroin indicator solution
6. Standard ferrous ammonium sulfate, 0.25 : 	�	�4 98 ��� (Fe(NH4)2(SO4)2.6H2O) )�

�����	��� �9� 20 ml conc. H2SO4 ����N32)�2�4W� M	23�:O
:���0=� 1 	�9� Standardize ���
	�	�4����!
�)�2�234���	�	�4 K2Cr2O7  �9�|�� 10 ml �9� conc. H2SO4 30 ml ���)�2
�4W� N9�9�9�234 FAS C�4)�2 Ferroin indicator solution 2 Q 3 �4�

 Normality Of FAS solution (M)
= Volume 0.25 N Potassium dichromate solution titrated, mL G 0.25
 Volume FAS used in titration, mL

7. Mercuric sulfate : HgSO4 F	K���O
F�

��P����������3#,
1. ���� HgSO4 0�� �I 0.4 ��� )�!	�)�D3��	���
2. 0~�099�3
4!������)�!	�N0 20 ml (��O
�!3�����:O
:���0=� 20 ml)
3. 0~�09 Potassium dichromate solution 10 mL )�!	k�M�23 �AO�
�!34)�2�����O
�� 1k�I�
4. ���D3��	���9!
�D2���1�
����J
��D
�

0��I���G	��J�M	23�0~������	!
�4W� 0�
����N !)�2

����������4 

�N0N�2
5. �!
4 a �9� ���J�	Gk����D2 D2�JK�� � Ag2SO4 
4k!M	23 	�N0 30 mL C�4�9� F!��

�
�����J
��
6. �0~��9�)�2�3� �2
� 92 ���:���O
��0=��3	� 2 ���3C �
7. � O�
��1������0~��9� 0	!
4)�2�4W� )�2����B��	2���
�����J
���AO�
	2��������9��
4k!���

�
�����J
��	�N0)�D3��	���
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8. �:O
:���234�����	��� )�2N�0�� �9� 140 mL �4�
�������9
�� 2-3 �4� ����N0N9�9�9�234
���	�	�4Ferrous ammonium sulfate

9. ������M1	��� (Blank) ���N0A�2
  a ��1����9�3
4!��C�4)�2����� ���!����43��1���
3��������9�3
4!��M9�9!�����9�����)�2�����	���M������9�3
4!��

10. �������3I �!� COD

 COD (mg/L)  =   
�����9�3
4!�mL

8000 Cb)-(a ××

a = mL D
����	�	�4Ferrous ammonium sulfate ���)�!��1 blank
b = mL D
����	�	�4Ferrous ammonium sulfate ���)�2��19�3
4!��
C = �3� �D2 D2�D
� ���	�	�4Ferrous ammonium sulfate

2.2  -�'��
 (Sulfate)��P� Tubidimetric
#'�����
BaSO4 :�9�9��
�M	�
4k!)��k0�
		
4�� JK�����)�2����9� BaCl2 )� Acid 

medium (HCL) JK�� � Grycerol 
4k! 3��M
1J
GM1�J� (Absorbance) D
�BaSO4 Suspension C�4
)�2 spectrophotmeter 3�L����92
���� Calibration curve �AO�
)�2
!���!�J�	�G9D
�9�3
4!���0=�3�L����N3
M	�)�2��� �� C�4�BA����19�3
4!����� �J�	�G9�2
4 ������10�� �IJ�	��� ���3!� 40 mg/L  
�:)�2
3�L����C�4�BA����19�3
4!��)�2�2
4	�M	23�9� �����	���:�N�20�� �9� 100 mL �������
������ a �3�
��� Standard �31�k!���N0�234 3�L������ ��l��J�	�G9N�2�2
4lK� 1 mg/L
���[���/[�.'3�>����,

1. ���O�
��3����	�	�4M11M !��	W� (Magnetic stirrer) M�!��3����	�	�4M11M !��	W�
(Magnetic bar)

2. ���O�
� Spectrophotometer ��� 420 ��C�� 9�
3. ������:�1�3	� (Stop- watch)
4. �2
�93���� ��3� :
 0.2 Q 0.3 mL

!����/�
1. �9��4  Conditioning reagent C�4���F� �	��J
�
	 50 mL ��1���	�	�4���0���
1

�234��	O
�D2 D2� 30 mL �����	��� 300 mL  95 % �
��	M
	�
`
	� 100 mL M	�CJ���4 
�	
N��� 75 ��� 

2. BaCl2 Crystal 23-30 mesh
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3. �9��4 ���	�	�4 �9�|��J�	�G9 C�4���	�	�4 Na2SO4 (Anhydrous) 147.9 mg )�����
�	���:�N�20�� �9� 1000 mL C�4������������ �l�� 0.02 �
� �	  � 10.41 mL �9� ����
�	���:�N�20�� �9� 100 mL (1 mL = 100 N C����� J�	�G9 = 100 mL J�	�G9/	�9� = 100 
ppm )

��P����������3#,
1. ��������3� D
!�D
�M1���4 J�	�G9 (Formation of BaSO4 turbidity)

�9� 9�3
4!�� 100 mL )�!D3��k0��34D��� 250 mL �9� Conditioning reagent 5 mL 
F� )�2�D2���� C�4)�2���O�
��3����M !��	W�M	�M�!��3����M !��	W����2� a �!
4 
a �9� BaCl2 Crystal 1 �2
� :�1�3	�A
N�2 1 ����)�2�4�
�������

2. ���3���3� D
!����3���3� D
!�D
�M1���4 J�	�G9 (Measurement of BaSO4 turbidity)
�����	�	�4:��D2
 1 	�)� absorption cell D
� spectrophotometer 3���!��3� D
!�
�
� a 30 3����� ���420 ��C�� 9� �0=��3	� 4 ���� ��������A��� Maximum turbidity :�
����DK����� 2 ����M	�:�
4k!9�3N0lK� 10 ���� )�2�
��!����
!��N�2 ������
�j�4)� 4 ����

3. ����9��4 ���G �9�|��J�	�G9��� ��3� �D2 D2� 0, 5, 10, 15, 20, 25, 30, 35, 40 mg/L
C�4���0~�09 0, 5, 10, 15, 20, 25, 30, 35, 40 mL D
����	�	�4 �9�|��J�	�G9���
�9��4 N32)�!)�D3��k0��34M	23�9� ����:�N�20�� �9�M9!	�D3��0=� 100 mL M	����
�
�
4!���� O
�9�3
4!��

4. ������ Correction  ������19�3
4!��������� �����O
�3� D
!� ( Correction of sample color 
and turbidity ) C�4������ blank �� O
�9�3
4!��M9!N !92
��9� BaCl2

2.3  !� (Color)
��D
�����L�� ��9� ��:��0=�����	O
�����9�	��O
���� ����DK��:�������!��0��
4D
�

AO� JK�� ����	����� (Lignin) �0=��!3�0���
1 � O�
�	�49�3:�)�2���M����� (Tannin) 
��� �̀3 �� (Humic Acid) M	���� �̀3� 9 (Humate) JK��)�2����	O
��� �
�:�����4������:��

�

�D
�C	�� ��!� ��	W� M ������ M	�:�����0��0��
�D
���������D
�C�����

9���
���  ��D
�9�3
4!���������4:� �	��HI����1!�1
�lK�	��HI�0��:��9�3N�2�� ����������3����
:K�M1!�N�2�0=� 2 ���� �O


1.  ��:��� (True color) ����:�����4!
4�	�4D
�AO�M	����
�����4�)����
2.  ��0���b (Apparent color) ����:�����MD3�	
4
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�>����,
1. ���O�
� Spectrophotometer  �3� 4�3�	O�� 500 ��C�� 9�

!����/�
1. ���	�	�4 �9�|���	
C��A	�9�����9��4  C�4	�	�4C09��J�4 �	
C��A	�9�

��� (Potassium chloroplatinate, K2PtCl6) 1.246 ��� M	�C�1
	9���	
N��� 
(Cobaltous chloride, CoCl2.6 H2O) 1 ��� )������	���JK���9� ���N`C���	
����D2 D2� 
(conc. HCl) 100 mL ��)�2���	�	�4:�� � �!
4 a ��)�!D3�3��0�� �9�D��� 1 
	�9� M	23�:O
:��:���1 1 	�9� ���	�	�4����9��4 N�2��� �:� ��3� �D2 D2�D
�����!�
��1 500 ��!34�� (Color unit) ������	�	�4���N0�9��4 ���	�	�4 �9�|�� D
���!34
��9!�� a ���9������� 61


������� 61 �!���D
����	�	�4 �9�|������!��3� �D2 D2�9!�� a

 	.D
����	�	�4 �9�|���:O
:���0=� 50  	.
�234�����	���

�!�D
���)���!34 Co-Pt-Unit

0 0
0.5 5
1.5 15
3.0 30
4.5 45
6.0 60

��P����������3#,
1. ������	�	�4 �9�|������9��4 N329� 9���� �3���!�����k��	O�M�� (Absorbency) 

M	23����!����3��N�2N0A	
9���G���3!���!�D
���!34�� M	��!�����k��	O�M�����3��N32
2. ���9�3
4!���������:�������3���� �������M4�C�4)�2M����3��4� �AO�
)�2D
�MDW����

MD3�	
4
4k!9�9��
� ���N03���!���
!���!��0=��!�����k�	O�M�����3��N�2:��0=���:���
 �)�!��0���b
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3. ����!�����k��	O�M�����
!��N�2:�����O�
�3�� N0A	
9���G���3� �� A��L����3!��
�!�D
���M	��!�����k��	O�M��l2�9�3
4!�������� �3���!�����k�	O�M��  ��!��k������3!�
 �9�|������9��4 N32)�2 ������:O
:��9�3
4!������)�2
4k!)��!3�����9��4 N32�!
� M	23���
F	���3��N�2�kI�234��!�D
�����:O
:�� ��O

�::�)�2�k9�

 ��!34�� (Color Unit) =        
V

50xA

A = �!�����k��	O�M�����
!��N�2
 V = 0�� �9�D
�9�3
4!���������������� ��:O
:��

2.4   .�'�-�
/ (Calcium) ��P� EDTA
M�	�J�4 �0=�92���9
�����c������)�2���� ��3� ����2���!3 ��1M ����J�4  ���)�2����9�����

M	�

�9���!
��������9!�� a M9!�W�!340�
����N !)�2C	��F
 ��!
�M	�)�20��1 pH D
�����N�2 A1
M�	�J�4 N�2���3N0����)�����F�3���M	�)92���C�4�BA������1���3I���N�	F!�����0k�

#'�����
� O�
1�A�G
������:� � pH ��!���1 12 �234CJ���4 N`��
�NJ�� (NaOH) M�	�J�4 N


� 

(Ca 2+) :������������J2
���� Ak��1� 
���NJ�� ([Ca-Murexide]) M	�� O�
N9�9�9�234 
������
 
(EDTA) A3�M�	�J�4 N


�
����:��3 9�3�0=����0���
1����J2
� M�	�J�4 - 
������
 ([Ca-
EDTA] complex) JK��N ! ���M	�
4k!9�3:��3!�:�� � 
������
�W:�N0�K�M�	�J�4 N


� �:�����
����J2
�D
�� 
�����-NJ�� JK��N !��l�4�0	!
4� 
�����NJ���0=�
���� ��D
����	�	�4:��0	��4�
�0=��� !3���������D
�� 
���-NJ��M���3!�lK�:
�4
9�
�>����,

1. 1�3��99�D��� 50 mL
2. D3��k0��34 D��� 250 mLhjhj

!����/�
1. CJ���4 N`��
�NJ�� 1 �
�� �	
2. � 
���NJ��
�������9
�� ����M�2�C�4F� � 
���NJ�� 200 mL M	�CJ���4 �	
N��� 

100��� )�2�D2����
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3. ���	�	�4 �9�|�� 
������
 0.01 C 	��� : 	�	�4F���	O

�������
N�CJ���4  (EDTA 
Disodium aalt) 3.723 ���  )������	��� 1 	�9�0��1�3� �D2 D2���M�!�
� 
(Standardize) ��1���	�	�4 �9�|��M�	�J�4 ������1�3� �D2 D2� 0��1�3� �D2 D2�
D
����	�	�4 EDTA )�2 1 ml = 1 mg CaCO3

4. ���	�	�4 �9�|��M�	�J�4  : ����M�	�J�4 ����1
��9 (CaCO3) JK��N�2
1M�2�M	23
:���3� 1.000 ��� )�!)�D3��k0��34D��� 500 mL 3����34N32����
D3� �!
4 a �9� 
���N`C���	
��� (1+1) ��	��2
4 :��������M�	�J�4 ����1
��9	�	�4� � �9� ����
�	��� 200 mL 92 )�2��O
�0�� �I 2 Q 3 �����AO�
N	!����1
�N�

�NJ�� ����)�2�4W�
�9� � �L�	���
�������9
�� 2- 3 �4� 0��1)�2�0=����2 �234M
 C ���4 N`��
�NJ�� 3 
�
�� �	��O
�����	O
 (1+1) l!�4	�)�D3�93�D��� 1 	�9� �9� �����	���:�N�20�� �9� 
1 	�9� ���	�	�4 �9�|����� 1.00 mL �  k	4� ��1 1.00 mg CaCO3

��P�������3#,
1. 93�9�3
4!�� 50 mL  ��O
0�� �I�2
4�3!���� (������3!� �M�	�J�4 
4k!)��!3� 5 Q 10  

mg) M	23�9� �����	���:�N�20�� �9��0=� 50 mg 	�)�D3��k0��34
2. �9� ���	�	�4CJ���4N`��
�NJ�� 1 �
�� �	 2 mL 3�� pH D
����	�	�49�3
4!������

l2� pH 9����3!� 12 )�2�9� CJ���4N`��
�NJ��	�N0
��:�N�2 pH ����	!�3 M	23�9� 
� 
���NJ��
�������9
��0�� � 0.2 ��� ���	�	�49�3
4!��:��0=���� Ak

3. N9�9�9�234���	�	�4 �9�|�� 
������
 0.01 C 	��� 
4!��3���W3JK����� Ak:��!
4 a
�D2 DK����O�
4 a JK��M���3!�)�	2lK�:
�4
9�:K��!
4�9� ��	��2
4:�lK�:
�4
9�JK�����	�	�4
:��0	��4��0=��� !3���������

4. �������3I
 M�	�J�4  (mg M�	�J�4 /	�9�) = A × B × 400.8
 0�� �9�9�3
4!�� (mL)
 A = mL D
�
������
���)�2N9�9�9

B = mL D
�M�	�J�4 ����1
��9����  k	4���1 1.00 mL EDTA
 (l2����	�	�4 EDTA �  k	A
�� �!� B = 1.0)
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2.5 �#'(� (Iron) ��P��a.��"��'�� (Phenanthroline)
#'�����
����L�� ��9��!3�)�c! C�4�BA��)�����)92���:�A1��	W�
4k!�234�� 
  ��:�
4k!)�

�k0	�	�4������O�
�:��D��

�J��:� 
4k!)��k0D
���	W��G
��� (Fe 2+) ��!� �G
���N1����1
��9 (Fe
(HCO3)2) �G���J�	�G9 (FeSO4) M	� �G����	
N��� (FeCl2) M9!� O�
1���	������ F����1

�J��:����
:��
���d ����:�D
!���������A��� �G���:�lk�

�J�N�J��	�4�0=��G��� (Fe 3+) JK��N !	�	�4���� ��!� 
�G���N`��
�NJ�� (Fe(OH)3) �0=�92�

��	W��G��� (Fe 2+) :����)�20b�����4��3 ��1 1, 10 G�M��C��	�� ��� pH 0�� �I 3 
�����0=�N


�����J2
���� ��2 M�� �3� �D2 D2�D
���DK��
4k!��10�� �ID
���	W���� �
4k!)����� �����
����:���9�3
4k!N�2���0�� �I 6 ��O
� )���I����92
����3����������	W������ � (Fe 2+, Fe 3+) ���
4k!
)�����:��0=�:�92
��0	��4���	W��G���)�2�0=���	W��G����!
� C�4����9� ���N`C���	
����AO�

	�	�49��
� �G���N`��
�NJ�� M	��0	��4�N


�D
���	2��G���)�2�0=�N


�D
���	W� 
�G
���C�4)�2N`��
�J�	� �� (Hydroxylamine) �0=�9�3����3J� 0��1 pH D
����	�	�4)�2
4k!)�
�!3� 3.2-3.3 �234���	�	�4M
 C ���4 
�J��991�G�G
�� M	23�9� 1, 10 G�M�C��	�� C�4 3 
C �	�
	D
�G�M��C��	��:��3 ��1��	W�G��� 1 9�3�����0=����0���
1����J2
����2 M��
�>����,

1. ���O�
� spectrophotometer  �3� 4�3�	O�� 510 ��C�� 9�
2. D3�3��0�� �9�D��� 50 mL
3. 1����
��
4. �9�)�2�3� �2
�

!����/�
1. ���N`C���	
����D2 D2�
2. ���	�	�4N`��
�J�	� ��:	�	�4N`��
�J�	� �� (NH2OH.HCl) 10  g)������	���

100 mL
3. ���	�	�4M
 C ���4 
�J��991�G�G
��: 	�	�4M
 C ���4 
�J��99 (NH4C2H3O2)

250 g )������	��� 150 mL �9� ���
�J�9������ Glacial 700 mL
4. ���	�	�4G�M��C��	��:	�	�4 1, 10 G�M��C��	��C N`���9 (C12H8N2.H2O) 100 

mg )������	��� 100 mL ��M	�

!�)�2�2
� �

I�jk � 80 OC 
4!�0	!
4)�2��O
�
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5. ���	�	�4�9�
���	W�: 	�	�4 �G���M
 C ���4 J�	�G9 Fe(NH4)2(SO4)2.6H2O
1.404 g �9� C09���J�4 �0
�� �������9 (KMnO4) 0.1 �
�� �	��	��4�:������������
��� Ak
!
� a �9� �����	���:�N�2 1000  mL  (���	�	�4��� 1.00 mL = Fe 200 
N C����� )

��P�������3#,
1. �D4!�9�3
4!�� 93�9�3
4!�� 50 mL )�!1���
�� �9� �����	O
�D2 D2� 2 mL M	��9� ���

	�	�4N`��
�J�	� �� 1 mL )�!	k�M�23 3- 4 � W�M	23���N092 1��9�)�2�3� �2
�)�2
��O
��AO�
)�2M�!):3!���	2�)�����	�	�4� �M	23 92 92
N0:���	O
0�� �9�0�� �I 
15 Q 20 mL 4�	��AO�
)�2�4W���!�

I�jk ��2
�

2. ��)�!D3�3��0�� �9� �9� ���	�	�4M
 C ���4 
�J��991�G�G
�� 10 mL M	����
	�	�4 G�M��C��	�� 4 mL �9� �����	���)�2N�2 50 ml �D4!�)�2�D2���� 9�������N32
4!���2
4 
10 -15 ���� �AO�
)�2�������D2 ����
�

3. ���N03���!� %T ����3� 4�3�	O�� 510 ��C�� 9� M1	���)�2�����	���M��9�3
4!������
M	23���9� D���9
��� O
�9�3
4!��

4. ������G �9�|��C�4�9��4 ���	�	�4��	W�)�2 ��3� �D2 D2� 10, 20, 30, 40, 50 M	� 
60 N C����� M	23���9� D���9
� 1 Q 3 A	
9���G���3!���3� �D2 D2���	W��0=�
N C����� ��1 %T ���
!��N�2

2.6 )��
��- )�"
��+� (Nitrate-Nitrogen) ��P���e-�� (Brucine Method)
#'������

���0���
1N�C9��:���������c)�����
4!����K���W�O
 N��9�� (NO3-) 3�L�1�kJ�� 
����)�2�� N��9��- N�C9��:� )��!3��3� �D2 D2��k� �� ����1�������4 ����C�C��� ������� ����
MD3�	
4�k�M	�������� �0�� �IM�!L�9
�k� a N�2 C�4���1�kJ�� (Brucine) :��3 ��1N��9�������0=�
�������	O
�j�4)92�j�3���� �0=����M	�

I�jk �����k� JK���� ��l3���3� �D2 D
���N�2���
�3� 4�3�	O��
�>����,

1. ���O�
� spectrophotometer  �3� 4�3�	O�� 410 ��C�� 9�
2. ���O�
�
������ (water bath)
3. ���3���	
���	
�
4. �	
���	
�D���1��:
����N�2 50 mL
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!����/�
1. ���	�	�4�9W
�N��9�� : 	�	�4M
�N`����CAM���J�4 N��9�� (KNO3) 721.8 mg

)������	���M	23�9� �����	���:�N�20�� �9��0=� 1L ���	�	�4��� 1 mL :� � N��9��-
N�C9��:�
4k! 0.1 mg

2. ���	�	�4 �9�|��N��9��-N�C9��:� : ������	�	�4�9W
�N��9�� 10.0 mL
 ��9� �����	���:�N�20�� �9��0=� 1 L C�4���	�	�4��� 1 mL  :� �N��9��-
N�C9��:� 
4k! 1 N C����� 

3. ���	�	�4CJ���4 
����JN��� : 	�	�4CJ���4 
����JN��� (NaAsO2) 5 g )������	���
M	23:K��9� �����	���:�N�20�� �9��0=� 1 L

4. ���	�	�41�kJ��-���J�	G���	��: ���	�	�41�kJ��J�	�G9 1 g   M	� ���J�	G���	��
0.1 g  )������2
�0�� �I 70 mL M	23)�!�����	O
�D2 D2� 3 mL ����)�2�4W� �9� ����
�	���:�N�20�� �9��0=� 100 mL  ���	�	�4���:���9�3
4k!N�2����	�4��O
� l2� ���
� Ak����DK���WN !����1�����O
�9!
0b�����4�

5. ���	�	�4���J�	G~3��� (4+1)  : �!
4a �����J�	G~3����D2 D2� 500 mL 	�)�����
�	��� 125 mL ��	��2
4 M	23���)�2 �4W����

I�jk ��2
� 0~�:
�)�2M�!��AO�
����3� �O��
:��
���dj�4�
�

6. ���	�	�4CJ���4 �	
N��� : 	�	�4CJ���4 �	
N��� 300 g)������	���M	23�9� �����	���
:�N�20�� �9��0=� 1 L

��P�������3#,
1. 0~�099�3
4!�� 10 mL ��O
�2
4�3!�M	23�9� ����)�2�0=� 10  mL )�!	�)��	
���	
�  
2. �9� ���	�	�4CJ���4 �	
N��� 2 mL )�2M�!�M�23��)��	
���	
�)�2�D2����
4!����
3. M	23�9� ���J�	Gk��� (4+1) 10 mL ��)�2���3 ����	
��
	
�N0M�!����)�2��4�2
�
4. � O�
�4W�M	23��� ��9� ���	�	�41�kJ��- ���J�	G���	�� 0.5 mL ��)�2�D2���� ���

�	
���	
�N0)�!)����O�
�
������JK�� �

I�jk � 95 
�d��J	�J�4� �0=��3	� 20 ����
5. � O�
��1������M	23����	
���	
������ � �M�!)�
!�������4W� ����N32:� �

I�jk �

��!�

I�jk ��2
� ���N03���!��k��	O�M����� 410 nm      )�2�����	����0=�M1	��� ����!����
N�2N0A	
9���G�AO�
���3� �� A��L���1�3� �D2 D2�D
�N��9��

6. �����2�����G �9�|���3� �D2 D2� 1, 2, 4, 6, 8 M	� 10 mg/L  C�40~�09���	�	�4
 �9�|�� 1, 2, 4, 6, 8 M	� 10 mL  �:O
:���234�����	����0=� 100 mL )�2�����	���������1
�0=�M1	��� ��������	
���!����43��1����9�3
4!�� (D2
 1-5)   
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